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S1

A)

Identify the place value of the underlined digits.B)

1)

2)

3)

4)

C) Identify the place value of 8 in the number 55.845, which is the atomic mass of iron.

3) Underline the digit in hundreds place.

a) 273.91 b) 917.6 c) 421.83 d) 189.267

2) Underline the digit in tenths place.

a) 87.3 b) 729.451 c) 691.02 d)

4) Underline the digit in thousandths place.

a) 32.619 b) 1.754 c) 904.326 d) 8.521

1) Underline the digit in hundredths place.

842.01

960.1

a) 1.427 b) 37.65 c) 592.164 d) 60.39

701.59

9.578

Decimal Place Value up to Thousandths

1.563


